EANRAROBESIFRT — 2 N—ZABISH—F
v >%3%t 5005TF UEwl iR

20175128108 (H) SHEFR#4H

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
£ # 4 | C. 74—0O 1:48.1 7-8 32,9 95.6 | 1 458 | BEBE (FER)
11| TTovT b 57.0 (=) oy | B) rF-L—sry
R:F4—=TA>N7 b BETNAY J—=HrTp—L
S P - 3 | AlEE 1:48.2 2-2 33.5(93.5 | 10 | 462 |®IFEZ (FR)
2l 7| *M>avisnyy 54.0 (3/4) (cay | HAAEFRE
RixXAvagfave B:A(a995F+4 %3 L AERYUS
(S 4% 3 | FIBEK 1:48.2 1-1 33.5| 935 | 3 486 | KAMREERS (FH)
3N 5 JA4rY v L —X 54.0 (7€) (o) | @) ?‘J'f‘/
A TAT v — BE2Z/NAILT B2 %Y K
L 44 | SHEA 1:48.3 5-5 33.3|93.0 | 5 504 | HBT (FBR)
16| 1/TT>Y 57.0 (7€) vy | 7Ty
L2947 ALk B:a%+5y b $#HE IER
. . C. JLAx—J 148, - . . AREN (ER)
517111 R4 YT7EY 4 3 6.0 1(14/82)4 10-7 33.3| 91.9 2 423)6 i&ﬁﬁui
RiF4—=TANT b BT J—HrIr—L
- N 9 1BKE— : = MTFRE (ER)
cB . 2x777>50-% o4 ot 1741!3:;1 4-5 33.5| 91.7 | 9 ;1_73 ﬁﬁg;’j:;k
L:J1 7 hT—bEY B:5T7—XFAR AIE R
> — . 4 3 | =R 1:49.2 11-10 33.9| 81.5| 8 184 | RBIEHE (ER)
7Y 4| V¥ 1=—E-ZX 56.0 (5) (+4) /ﬁ%%ﬁz
v JNRry b BATLRINT A i e ]
s 9 # 5 | RERS 1:49. 11-12  [33.7| 82.8 | 7 452 | BIRE (FBH)
87|12 YR =I 55.0 (2 E) (g) | (B) HAL—Z%K-X
LN—ErTvy— B:IaF7FRI—L (A) HA3-KL—ra>aEr7r
s 3 | I 1:49.2 7-3 34.4| 771 | 4 474 | WIIFE (FR)
] 6 i 54.0 nF) Gy | ) x-77-x
L:Fq—=TA2N h B:XJ—ERy— =e)
: 44 | BERMAETT 1:49.3 2-3 34.5| 755 | 6 494 | FREEE (FEXR)
10/8|14| B-F2%— 57.0 (7€) 4g) | M Ho YT 7 ENAR
R:T7RYAVYL—> BT7—0F19 7907 g—L— - I vIN> - T7—LERE
N Y # 3 | NBREZ 1:49.3 14-12 | 33.7| 81.7 | 11 | 474 |SEEZ (BER)
EH 9| = I/ 'f >INV K 56.0 (NF) -10) BHRxET
Z:rn7x BV HNLT—-X b HET7—L
“ - 4% 3 | MHEEZ 1:49.4 13-12 [ 33.8| 80.6 | 12 48 | FER (ER)
12|8[13| ¥V *¥1=T7 =2 54.0 @4) Gy | AEEm
R:xFa1z=gr—2 B:JVIFO-HFCX B #Bz
N i 3 | REER 1:49.6 5-8 34.4| 74.0 | 13 | 470 |BAEE (RR)
13/5/8| 753 56.0 (1 1/) Lo |HBEX
A1y agR—5— B:bh—TTx—Fa> Exapse]
p =, — o4 | FHElE 1:49.8 9-10 345 71.5 | 14 | 488 |KEFA (BR)
14 3| 97>TVT oI 57.0 (3/4) 48 | B 52Ty
LI ATA—h— B:O—-Y—3IXb Li=Ese
@ 21 L
£y 45.7-33.4
NA> 24 L | 12.8-11.7-12.0-12.8-13.1-12.3-11.1-10.8-11.5
® I—F—@EBIERL
13—7-
23—7F—
== 5(7,14)2(6,8) (1,10)3,11(12,4)13,9
Mal=5r= (x5,7) (14,10) (2,6)11(1,8) (3,4) (12,9,13)
[ RN
B Op 1 1809 794K 1-7 4,000/ & 1-5 7,200M &R 1-5-7 18,730H
7 B 1 120 15 340 | | B E 1-7 12,830 | | 3EE 1-7-5 100,930M
7 1,470 5-7 8,120 B H 1-7 16,9501
5 200H

ABICOVWTRDTEEERROODE. TR LIV,




